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End Semester Examination of Semester—II, 2015

Subject : ECONOMICS (HONS.)
Paper : III
Full Marks : 40
Time : 2 Hrs

The figures in the margin indicate the marks
corresponding to the question.

Candidates are requested to give their answers
in their own word as far as practicable.

Illustrate the answers wherever necessary

Group A

Answer any two questions : 10x2=20

1. Establish that excess capacity and higher prices are the
result of non-price competition coupled with free entry.

2. Examine why a monopolist never produces in the inelastic
portion of the market demand curve? What does explain
the absence of a supply curve for a monopolist?

3. Define oligopoly. How can you explain the rigidity of price
in Oligopolistic market?

4. What are the three efficiency conditions that must be

satisfied for a Pareto optimal allocation of resources in the
economy? Explain why the conditions are necessary.
3+7
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Group B
Answer any two questions : 5x2=10
5. Under what conditions a firm will continue to produce in
the short run even though it earns negative profit.
6. Why is price under bilateral monopoly said to be inde-
terminate?
7. How do you derive the demand curve for an input when
a competitive firm uses more than one variable input?
8.

Answer any five questions :

9.

10.

11.
12.

13.

“Rent is the surplus earned by a factor over and above

the minimum earnings necessary to induce it to do its
work” — Discuss.

Group C

2x5=10

If leisure is an inferior good, what will be the slope of
the supply curve of labour?

Is price discrimination possible when the demand curves
are iso-elastic? State the reasons in support of your answer.

Define Break-even point and shut-down point.

State the relation between price elasticity of demand,
average revenue and marginal revenue?

Define ‘product differentiation’ in a market characterised
by monopolistic competition.



14.
15.
16.
17.
18.

(3)

What is dead-weight loss of taxation?
What is quasi-rent?
Define externality?
Define production possibility Frontier.

Can a firm under perfect competition maximize profit when
its MC curve is downward sloping?
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